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Instructions to Pupils:

1. Do not open this booklet uptil you are told to do so.
2. Follow all instructions carvefully.
3. This paper consists of 3 parts, Sections A, B and C.
4. For questions 1 to 20 in Section A, shade the correct nvals on the Optical
Answer Sheet (OAS). .
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* This paperconsists of 34 pages altogether,



Section A {40 marks)

1. A5 thousands, & huindreds, € tens and £ ones written in Aumerals is

o .3 .,
4. Howmany sevening are thete in 73 7.

Far each question, 1 to 20, four options are given. One of tham is the corract
answet. Make youvr choice (1, 2, 3 or 4). Shade the correct ovals (1, 2, 3 or 4)
onto the Oplical Answer Sheet provided. Each question carias & marks,

(1) 4502 (2) 40502
[ay anoer (4) 453502

2. Which of 1he numbaears below becomes 36 700 when rounded off to the
neares: .on
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5. The value of the digit 6 in 75,289 is _
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6. 8-~0.03= __M____ Find the missing number. |

(1) 0.77 ‘ {2) s

(3) 7.7 {4) 797

7. Express 3 hours 50 minutes in minutes.

(1) 35 minutes - {2) 180 minutes
(3) 230 minutes : (4) 350 minutes

8. Find the sum of alf the factors of 49,

(1) 138 (2) &7
(3) 64 Ly 4

9. Anumberis a factor of 36 and a mullipis of 3. When divided by 4, it gives
aremainder of 7. What is the number?

(1) ® (2) 9
(33 12 (<) 10
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10, The difference batwesn the gighth multipte of 8 and the fourth multiple of
3 H
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11, A plzzawas aut inte 10 equal slices, Elvin ate a slice and Ciive ate 2

siices. What fracton of the pizza was left?
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12, Lawrence spent 370 aid saved $80. What fractior of his monay did he
save?
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13. Study the ﬁgurebeiqw‘.—What‘fraction of the figura is unshaded? Express
your answer as a decimal.

3

(1) 03 - " (2) 0.4
(3) 05 (4) 0.5

7
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14, 1.833x3= . Give your answer roundad off to 1 decimal

place.
(1) 3.0 (2) 3.1
(3) 8.9 {4) 40

15. Jerome bought 6 shirts. He gave the caghier $100 and received 53,80
change. Find the cost of 1 shirt.

(1) $15.20 (2) 33040
(3) $52.80 (4) $97 2

16. Douglas bought @ fand 72 m/ of grape juice. He bought R times as much
grape juice as hig sister. How much grape juice did they buy eitogsther?

(1) 3124w (2) 12 ¢ 86 m!
(3) 27 L 216 ml (4) 381§ 288 mid




17. 8 pens and 30 {iles cost $24. Find the cost of 4 pens and 20 files.

(2) $12
(

2)
4) $20

18, The sum of twe numoers is 142 One number iz 14 1a8s than the other.
Whatis tha smailer number?

(1) 84 | (2y 71
(3) 78 (4) 128
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19, Brignioek 5 acur b waik frony home teo schoot Alan coutd walk the
sama distance in haf the time. How long did Alan take?
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(1Y 10 minutes (2)
(8} 30 mines (4)

S 200 Arope B4 m tong ie cut into two pigces, One piace is 3 imes &
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(13 18m (2) 22m
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Section B { 40 marks)

For each question, write your answers in the spaces provided., Give your
answers in the units stated, You may show your working in the space balow each
question, Questions 21 to 89 carry 2 marks each.

21.  Compigte the following number patiemn. o ’
59, ., 5900, 59 000 _ EE A —

M

22, Subtract the 6% multipls of g from 150.

? ]
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23, . g .3 g [
“ What is the sum of — and = - . - %
. b + . i
. : T . . o . i
Give your answer as an improper fraction, 2 ]
24, 5 - |
“"  Find the product of 5 and 12 ;
EXpress your answer as a mixed-number., — j

25. Find the product of 0.65 and 7,
t i
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30.

1+ 15+ 92+ e = 13 X B

What is the missing number in the blank abova™

& i S N PR -
83 3‘!/ = B3 housmds, {ens and 7 ones.

Pater thinks of & numbeg.
When be divides it by 3, he gets 1.43
Find the number.

2 |
ERER SR ey

v* 3

-‘v‘ha i the missing fraction?

17
Exprass 5

a2}

a decimal.
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Subtract 8.62 from the sum of 7.31 and 2,98
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32, Whatis 4.28 written as a fraction in the simplest form?
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33.  Find the difference between 4 hundredths and 8 tenths, T
) |
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34, $33.781s shared amony b giris equally. T e
How much money does each giri get? & '

35 B84004s lass than 28 400. T

. . ) §
What ia the missing number in the blank above?

36, 7380 «10=-_ -~ X 10, § i

What is the missing aumbernhe blank above? L i
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37. L RS ! — "

-7 How many eightns must be added to 5 3 to get 72 o ‘ :
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38. ' 1

Whith is greater, - or 095 72

39.  Vincent wanted to make £ bows.
Each bow neaded 80 om of tibhon.
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Whatis the missing nuriber in the hlank abova?
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Section G ( 20 marks) .
For questions 41 to 45, show your workings clearly in the space below each

guestion. Write your answer in the space provided, Each guéstion caries 4
marks.

41.  Gopal bought 23 rulers for $34, Some ¢f the rulers were made of metal ardd
the rest were made of plastic. | metal tuier costs 34 ame

4 plastic wuiers
- costs $1.50. How many of each type of rutars did he buy?

——— —

Answer: {4 rnarks)




42, 2
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9 of the acdience in a theatre are men. )i there are 80 men, find the

number of women iy the theatre

v~

Answer: - {3 maks)
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43. Thetotal cost of 2 books and & fites is $15.90, Each book costs twice as
much as a file. Find the cost of one hook.

Answer _ {4 marks)
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Tank A and Tark B contain 4 1 800 mi of water aitogsther,
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Tank A ) Tank B

11 350 m! oF water is pourad from Tank A inte Tank B.

The amount of watey in both tanks are now e same.
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Tank A Tank B

How muat water was thers in Tank 8 at first?
- Express vour answai in L and mi

Arnswer:

13

(4 marks)




45. 4 shirts and 1 tie cost $187 altogethar, One shirt costs $3 more than a ta.
F-ind the cost of one tie.

AN v {4 marks)

END OF PAPER
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6) 4 32).ﬁ 7/25

7) 3 33) 0.78
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9) 2 35) 20000

16) 2 36) 73.5

11) 4 37) 11

12) 4 38) 0.25
113) 2 39) 2

14) 4 £0) 2.2

15) 1 41) 7 metal rulers and 16 plascic rulere
16) 2 42) 280 women

17) 3 43) § 4,20

18) 1

19) 2 44) 1 litres 50 ml
20) 4 . 4S) $ 35
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22) 96




